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~ The previous mesh is the last mesh you added before the
current mesh. If the current mesh is Mesh2 the previous mesh
is Meshl.

~ When you have connected all the meshes, the count of
“Pops” should equal the count of “Pushes”. Just count the
ones and twos. You can ignore the threes.

This is the
current mesh.

v

Do you want
to connect the

current mesh
to the previous
mesh?

i

Isthemesh ——p ERROR
stack empty?
Is the mesh Will another
you want to > mesh be
connect to on connected to
top of the the mesh on

mesh stack?

ERROR

top of the
mesh stack?

\ 4

s the previous

Will anothej
mesh be YES mesh in the

connected to
the previous
mesh?

stack?

o

\ 4 \ 4 \ 4

Use opCode 1 |Use opCode 3 [Use opCode 0| | Use opCode 2|[Use opCode 0
for the current|for the current|for the current| | for the current|ffor the current
mesh. mesh. mesh. mesh. mesh.

“Pop” “Pop”and | No “Pop” “Push” No “Pop”

Remove the “Push” No “Push Add previous || No “Push

top mesh from mesh to the
the mesh stack] top of the

diagram stack diagram

v, > —Y «

Any more

meshes to
connect?

¢

End




